


e ,' 3 0(4_/0(1 G{R A Q"—'-}: O(r(U_’L‘\’dz,U;
qW\MJ’“‘ ; ¥(,U-3) = o, "Er(ru—,\ + A 5 ? (’UB/)
C\)/»\,\"O(A y (1a) "—g ("”7)) = (—tLS) => ‘Y AN [ g

S 2 Unin Co | WH;-’ ')Q’Q*"r& L TS BAV 4
L ume Lo T IRY o dy pas § el
) Q(0) = cone aldiish ol oncgs

Iw) < « V‘“&’%(

4

Bomoe (e8] L) L dlr) ol 2o) = AP

cCo— " (/QLAQBI-Q\

a)v-z/bo. ('\4\/\0,\1/(.:, N



Ly [ = T [
13 - & T A

A Z—t‘z'
™ 7 A

Ml ’U_L '\)_5

Co dore 2 (/—.N,—e,&v\.e_n,.,(gf',.a‘ 2l |+ DAy =4 =5 oA = 2
0(1"'((’0(2,:6_ o(z.’_‘-\i
N (/LNQ\(,Q— C\/L/LJ_Z(/L, V\p/e,(rk‘ A/&/Q,& _Ly_&e‘.

- 1= 2-1T a=> Yo 9 «rt=7g

- Se "L“-lé 9 Ve V2 VS 2 NAAD (‘/\/\/O( => _<E %5(-2’ ou\,(/m-i;

/ Ca

— Eb=-3"



- £=3

2“(

G
7

!

S
1

) -

)

o\<(

~ &\L%LQ



& - (é),(g) b o IR%

fraqse do IR3

5.4 9 L R* - R Jog- (“1‘5*1)

“>‘1+2><L
e X —3x

[



-1Z
+Q“<1)_ec(\2): T4
0 7
¢ 1 -(2 CK}
7138
{ = ("'?1_ T ["‘o’(’v)]g
C 130

P ltovor Lo coborre oL'.'Q ; /1,,'>o*Q/~/s L Ao d{,mbb_m,»_

b oo § (fu-)Jg 06 = (—:lz9 )

G o lhe <°\

Me(i—rwo(v CoO—e Gerina )\/ub'l,’h_'



P () - f(s) ( ') e o Rlw) = 002)< ()

— 1§

{

32 b3
S Ceove E@J; L <_4449 4: )k‘ A~ [:{]

Ryl -




5.2
D = SQl~44-€2/ "2l +7Fe,

'e‘lﬂr-u Ot [RZ

Be,l — 112, = 3 y ~2e(—h7€& = [ ¢
~ 14 ¥

J IRT— IR® e L Df’ = [¢
\x (e g)

1 27 el b 7
OWW (,?/JL @ 2 mquM <> Q\m W+LQ %o&h(z,.
- P S S %Mﬂ/Q/qm(iM O\VM/\.:@ OL Bos bs o



Con o R ' Jd, P
V220 qu j@

(s TEC

1)

.

d

e @ — ¢ 4 4 —4g
(Sd—téc 5 6 +6 4

Panrons e ol Ceo oo |

o @ = %
(240715

<=
aj)
3
29

>






-

- S
l




